

Penthouse in Gozo - Zebbug



Gozo - Zebbug, Gozo



€1,400,000

Reference No: 240031035-1025

 Total Rooms: **6**

 Floor Area (m²) : **215**

 Bathrooms: **2**

 Bedrooms: **3**

Penthouse - For Sale - Gozo - Zebbug

ZEBBUG - A stunning Penthouse situated in this highly regarded residential block in Zebbug enjoying gorgeous unobstructed sea and country views. The property features a beautiful wrap around terrace with far reaching views over Gozo's wonderful countryside. Layout comprises of an open plan kitchen/dining/living area leading directly to the terrace, a large common bathroom and three double bedrooms one of which enjoys a bathroom with shower. Property also features its own airspace and also enjoys use of the gardens, BBQ areas, common pool, bakers oven and fresh produce from fields. If Luxury is what you are after then look no further!

Features

- ✓ Lift
- ✓ Entrance Hall
- ✓ Pool
- ✓ Air Space
- ✓ Garden
- ✓ En Suite
- ✓ Double Glazed
- ✓ Terrace
- ✓ Roof Terrace
- ✓ Pool Deck

Rooms

- ✓ Kitchen/Living/Dining : 9.15 x 4.5 m (41.18 m2)
- ✓ Double Bedroom : 5 x 4 m (20 m2)
- ✓ Double Bedroom : 3.5 x 3.5 m (12.25 m2)
- ✓ Double Bedroom : 3.9 x 3 m (11.7 m2)
- ✓ Bathroom : 2.5 x 1.5 m (3.75 m2)
- ✓ Bathroom Ensuite : 2 x 1.5 m (3 m2)
- ✓ Open Space : 12 x 4.25 m (51 m2)
- ✓ Open Space : 4.25 x 7.5 m (31.88 m2)
- ✓ Open Space : 4.25 x 8.5 m (36.13 m2)

Gallery







Nick Portelli

RE/MAX Property Centre - Victoria

M: 79221227

E: nick@remax.com.mt

T: 21566824

RE/MAX Property Centre - Victoria

11, Independence Square, Gozo - Victoria, Malta